2012F EEXEAMNMT-AKE HEHKE BEF
NTT RéDA 5 Elr:-‘t;-’JB NTT ReD A 7»gyA EIES’OA EI?ESOB B[ E[BP[EP] & [ £ [WEE B
Si £ 8 - 4 ZH
o %’?m’i}“‘“‘* S - 5 %; 1 NTT R&D A 4= 1l3 = ala = 3 11| 4 [101|165| 0612 | 1
S3 NI 3 - 80 7 SIS o o @)
D1 ﬁﬁiﬁ o8 - 1 kk%%j@i 2 TFUUYA o R P 6 | 9 [ 71 |164]| 0433 | 3
D2 E - O 8 - 3 KE- L — [ @) (@)
S 3EIJ‘§7'7A2_34_1 R 9 | 6 [ 90|164| 0549 | 2
= o o [ )
SSTIA HES5A 4 HETYB P R P 0 4 | 11|72 (175| 0411 | 4
ST HFEGEFE [O 8 - 2 HF
S2| HEGE) 5 - 80 =1
S3 A 0 ret 80 =M ABZER)—JIERL
D1 |3 Lt (F&)-F1H 1 - 8 O fE=EH-Eik 1 NTT A
D2| {&i@%-A¥ 2 - 8 O| Em-F8& 2 HETYA
1 - 4 O 3 7U)YA
4 NTTB
NTT R&D A HETYA
ST AIE O 8 - 2 BE
S2 EiE Os8 -0 KEF
S3 N 3 - 80 =X N
D1| BiE-tauE 5 - 8 O #=EHA-E#k
D2| dt#k-Efm |O 8 - 4 E2l-FiE
O3 - 2
HETYB TUUYA
Si i3 3 - 80 E
S2 P 3 - 8 O #HLEE=)
S3 = Os8 - 2 ] A
D1| KEBE-EHA 5 - 8 O|# L&) -f1H
D2| KBE-BF 6 - 8 O|{Esk-FHE ()
1 - 4 O
NTT R&D A TUUYA
ST AE O8 -0 FE ()
S2 EiE O8 -5 #1
S3 LN O 8 - 6 BE
D1| BiE- -tk 2 - 8 O|RBRE-#HL (&)
D2 Z'KE'{E;FH 8 8 ret 2 E*#'*DE
4 - 1




HETYA HETYB
St B 4 - 8 O BF
S2 HF 6 - 80 KE
S3 =X N O 8 - 4 e
D1| f=H-EHk (O 8 - 2 KE-BZE
D2| HiE-KEF |O 8 - 4 EMA-E
O3 - 2
AR B
7)Y HiL
Si Ek - HErZE
S2 HEE [O8 -0 TR
S3 HEFE [O8 -0 1] =]
DI [BREB-HLEFE)|O 8 - 6 mEE- AR
D2| {kk-FX 5 8§ 5 9 O #HLE-#EH
3 - 1




S
S2
S3
D1
D2

S1
S2
S3
D1
D2

S
S2
S3
D1
D2

S
S2
S3
D1
D2

S

2012%F BFERRXEARRT_AKE HEHR

1JO—E KA 1R ENIEES
AT (k) 3 - 80 e
-7 8 - 0 1|
{1l 8 - 4 A
o - 5 - 8 O E#-THE:E
At (G -4 8 119 O HE-AR
2 - 30
1)a—]2 KB 1R 1J/\EY)
R& O 8 - 1 TH
5 O 8 - 3 ey
)R 3 - 80 PiE
SEH-RESI|O 8 - 6 INFR - FTHH
FTH - #0LU 1 - 8 O] BR-PE
O3 - 2
NTTRRD B TR JEARTIRAT |
TETa] = BEIT
BX O 8 3 INE
i 6 8 O R A%
RE-Ft [O 9 - 7 BH-EH
EH-BEA [O8 - 0 BN
O 3 - 1
7TUB R J_—EXK
AT - il FE3
= 3 - 80 1%k
IR 4 - 80 =
KT8 |O 8 - 4 BT -E
HL-#&E 2 - 8 O =F¥H-LK
i - 30
ENIEES 2R 1)JO—/E KB
hEiE O 8 -5 E&II
i o) 5 - 80 %Ml
TR 3 -80 [RHE
E#-mEE O 9 5 8 SEl-RA
HEAER |O 8 - 1 A H - F1l
O 3 - 2
NTT R&D B 2R Y—_—EX
EEx 1 - 8 O Rz £B

BF

T

&=

)a—FE KA
BiL[EXK
1)a—[E KB
JnEY
NTT R&D B

ERM&RE —

72')UB
V=—EX

NTT R&D B



S2
S3
D1
D2

S
S2
S3
D1
D2

JE\ Os8 -0 £k
BX O8 -0 =
EBE-BEAX 6 - 8 O W¥T-1E
Fith-EE |O 8 - 3 FE- UK
O 3 - 2
HiIEXR F NTT R&D B
hEiE - JEN]
HH 1 - 80 BX
o - Zith
HmEE- EAT 8 3 9 O ZFth-EAmM
HE-AR 6 - 8 8 EE-BX
0 - 3




S
S2

D1
D2

S1
S2
S3
D1
D2

S
S2

D1
D2

2012F EEXZEMAMNMT-AKE HEHE
J—_—EX 1R 'J/;\t")
AE O 8 -1 =A
=R 2 - 80 ol
EAthE |O 8 - 1 mi-aA
O 2 - 1
T 1R HETY
AR 0 - 8 O BEFF
(51 0 8 O g
JIE-BE%8 1 8 O BH-TIG
0 - 3 O
J——E K 2R HETY
[BER O8 - 5 PRI
KE O8 -0 A
Tk SH 4 - 8 O EH -G

TF

&=

T

V=——EXK
JNEY)
T
BETY




